Potencias de 10

(G)

2.1992 +10?

8.0251 +10°

9.6864 - 10!

2.7112 = 10!

7.4068 = 10°

6.6768 10!

2.5631 10!

1.8004 = 10!

5.5072 +10?

7.8625 =103

Calcule los siguientes cocientes.

6.2988 +— 10?

4.5763 + 10!

8.3909 + 107

4.7204 =+ 10°

5.4862 = 10°

3.0231 +10?

4.1785 =103

4.061 +10°

2.8811 =102

9.7836 = 10°
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Potencias de 10 (G) Respuestas

2.1992 =+ 10?
0.021992
8.0251 =+ 10°
0.0080251
9.6864 10!
0.96864
2.7112 = 10!
0.27112
7.4068 103
0.0074068
6.6768 10!
0.66768
2.5631+10!
0.25631
1.8004 + 10!
0.18004
5.5072 < 10?
0.055072
7.8625 10
0.0078625

Calcule los siguientes cocientes.

6.2988 + 10?
0.062988
4.5763 = 10!
0.45763
8.3909 = 102
0.083909
4.7204 + 10°
0.0047204
5.4862 103
0.0054862
3.0231 =107
0.030231
4.1785 = 10°
0.0041785
4.061 =103
0.004061
2.8811 +10?
0.028811
9.7836 + 10°
0.0097836
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